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APPLICATION OF INTEGRALS

Practice Work

1. Find the area of the region bounded by the

 ,X- axis and the lines

.

y = x2 − 4

x = − 1 and x = 2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RYwdy5eIKto0


Watch Video Solution

2. Find the area of the region bounded by parabola

 and the lines  in the first

quadrant .

Watch Video Solution

y =
x2

4
y = x, y = 1

3. Find the area of the region bounded by parabola

 and the line 

Watch Video Solution

y = 2x2 + 10 y = 4x + 16.

https://dl.doubtnut.com/l/_RYwdy5eIKto0
https://dl.doubtnut.com/l/_D9FokBwolS3T
https://dl.doubtnut.com/l/_HomQNMSsLqGH
https://dl.doubtnut.com/l/_zrvHNCl0Toae


4. Find the area of the region bounded by the circle

 ,X - axis and the line  in the first

quadrant .

Watch Video Solution

x2 + y2 = 32 y = x

5. Prove that the area of the circle with radius r is

Watch Video Solution

πr2

6. Find the area of the region bounded by the curve

 and X- axis.y = 2x − x2

https://dl.doubtnut.com/l/_zrvHNCl0Toae
https://dl.doubtnut.com/l/_2ABfmshdSP0d
https://dl.doubtnut.com/l/_fBU5IuQoovAJ


Watch Video Solution

7. Find the area of the ellipse 

.

Watch Video Solution

+ = 1(a > b)
x2

a2

y2

b2

8. Find the area of the region bounded by the curve

.

Watch Video Solution

y = sinx, x = and x =
π

2

3π

2

https://dl.doubtnut.com/l/_fBU5IuQoovAJ
https://dl.doubtnut.com/l/_bl0ys9BqK6xF
https://dl.doubtnut.com/l/_c9ajiawGyUl2


9. Find the area of the region by the curve

,X axis and the lines  and x=0.

Watch Video Solution

y = |x + 3| x = − 6

10. Find the area of the region bounded by the

parabola  and the lines 

and x=2.

Watch Video Solution

y = x2 + 1 y = x, x = 0

https://dl.doubtnut.com/l/_kDC4mw2dumK8
https://dl.doubtnut.com/l/_cdwemMlURCtw


11. Find the area of the region bounded by the

circles  and 

Watch Video Solution

x2 + y2 = 16 (x + 4)2 + y2 = 16

12. Find the area of the region bounded by parabola

Watch Video Solution

f(x) = 4 − x2 and g(x) = x2 − 4.

13. Using integration find the area of the region

bounded by the triangle whose vertices are

https://dl.doubtnut.com/l/_Pyh6O38dhczy
https://dl.doubtnut.com/l/_YmaNtb6FeVKB
https://dl.doubtnut.com/l/_6qUs0XDfpf1E


Watch Video Solution

( − 1, 1), (0, 5) and (2, 3)

14. Find the area of the region bounded by the

curves  X - axis and the lines x=2 and

x=3.

Watch Video Solution

y = 5 − x2,

15. Prove that the area of the region bounded by

circle  and  is  sq

. Units

x2 + y2 = 16 y2 = 6x (4π + √3)
4
3

https://dl.doubtnut.com/l/_6qUs0XDfpf1E
https://dl.doubtnut.com/l/_CiS8BvKlGyal
https://dl.doubtnut.com/l/_NSqtD43Un4aG


Watch Video Solution

16. Find the area of the region bounded by the

curves  and X - axis .

Watch Video Solution

y = (x − 1), (x − 2)

17. Find the area of the region bounded by the

curves 

Watch Video Solution

y2 = x + 1 and y2 = − x + 1

https://dl.doubtnut.com/l/_NSqtD43Un4aG
https://dl.doubtnut.com/l/_uJtAwYOth2Ot
https://dl.doubtnut.com/l/_OTHiRD2tTlev


18. Find the area of the region bounded by circle

 and parabola 

Watch Video Solution

x2 + y2 = 8x y2 = 4x.

19. Prove that the curves 

divide the area of the square bounded by

 y=4 and y=0 into three equal parts .

Watch Video Solution

y2 = 4x and x2 = 4y

x = 0, x = 4

https://dl.doubtnut.com/l/_k5y043bCHAFE
https://dl.doubtnut.com/l/_pc342DK19sZm


20. Find the area of the region enclosed by the curve

 and line 

Watch Video Solution

x2 = 4y x = 4y − 2

21. Find the area of the region enclosed by

Watch Video Solution

{(x, y) : 0 ≤ y ≤ x2 + 1, 0 ≤ y ≤ x + 1, 0 ≤ x ≤ 2}.

22. Find the area of the region bounded by the

parbola  and line 

W h Vid S l i

y2 = x x + y = 2

https://dl.doubtnut.com/l/_xxwnaaihLmlb
https://dl.doubtnut.com/l/_CNEVNdjv4Xsc
https://dl.doubtnut.com/l/_4WgfaTxLW4kW


Watch Video Solution

23. Find the area of the region

.

Watch Video Solution

{(x, y) ∣ x2 ≤ y ≤ x}

24. Using integration , find the area of triangular

region formed by the lines

Watch Video Solution

x + 2y = 2, y − x = 1 and 2x + y = 7

https://dl.doubtnut.com/l/_4WgfaTxLW4kW
https://dl.doubtnut.com/l/_77famFbB0HKZ
https://dl.doubtnut.com/l/_WN3HMfnEJ40c


Exercise 8 1

25. Find the area of the region bounded by the circle

 ,X - axis and the line  in the first

quadrant .

Watch Video Solution

x2 + y2 = 32 y = x

1. Find the area of the region bounded by the curve

 and the lines  and the X- axis in

the first quadrant .

Watch Video Solution

y2 = x x = 1, x = 4

https://dl.doubtnut.com/l/_CAmSBTFTsNIA
https://dl.doubtnut.com/l/_iIGU0Ka76Mh5


2. Find the area of the region bounded by

 and the X - axis in the first

quadrant .

Watch Video Solution

y2 = 9x, x = 2, x = 4

3. Find the area of the region bounded by

 and the Y-axis in the first

quadrant .

Watch Video Solution

x2 = 4y, y = 2, y = 4

https://dl.doubtnut.com/l/_lR9KHeraWitq
https://dl.doubtnut.com/l/_bokPVh7XZrWh


4. Find the area of the region bounded by the ellipse

Watch Video Solution

+ = 1.
x2

16

y2

9

5. Find the area of the region bounded by the ellipse

Watch Video Solution

+ = 1.
x2

4

y2

9

6. Find the area of the region in the first quadrant

enclosed by X- axis , line  and the circle x = √3y

https://dl.doubtnut.com/l/_aXGIU9BlMO5W
https://dl.doubtnut.com/l/_S5chgJfZdtYS
https://dl.doubtnut.com/l/_l2dYZON7TgNO


.

Watch Video Solution

x2 + y2 = 4

7. Find the area of the smaller part of the circle

 cut off by the line 

Watch Video Solution

x2 + y2 = a2 x =
a

√2

8. The area between  and  is divided

into two equal by the line  find the value of a.

Watch Video Solution

x = y2 x = 4

x = a

https://dl.doubtnut.com/l/_l2dYZON7TgNO
https://dl.doubtnut.com/l/_cr1Eass4qgbs
https://dl.doubtnut.com/l/_pj9tiAhLjjwM
https://dl.doubtnut.com/l/_yIdOwmkuIXlI


9. Find the area of the region bounded by the

parabola 

Watch Video Solution

y = x2 and y = |x|

10. Find the area bounded by the curve  and

the line x = 4y - 2.

Watch Video Solution

x2 = 4y

11. Find the area of the region bounded by the curve

 and the line 

Watch Video Solution

y2 = 4x x = 3

https://dl.doubtnut.com/l/_yIdOwmkuIXlI
https://dl.doubtnut.com/l/_fCg8o3WIKCdG
https://dl.doubtnut.com/l/_lAVLWHSt6nG7


Watch Video Solution

12. Area lying in the first quadrant and bounded by

the circle  and the line  and 

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 = 4 x = 0

x = 2

π

π

2

π

3

π

4

https://dl.doubtnut.com/l/_lAVLWHSt6nG7
https://dl.doubtnut.com/l/_QRCXOC7plA2w


Exercise 8 2

13. Area of the region bounded by the curve

 y-axis and the line y = 3 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4x,

2

9

4

9

3

9

2

https://dl.doubtnut.com/l/_yTQyHJtBqjjr


1. Find the area of the circle  which is

interior to the parabola .

Watch Video Solution

4x2 + 4y2 = 9

x2 = 4y

2. find the area bounded by the curve

 and .

Watch Video Solution

(x − 1)2 + y2 = 1 x2 + y2 = 1

3. Using integration find the area of the region

bounded by the triangle whose vertices are

https://dl.doubtnut.com/l/_XOkbx4PhDLJL
https://dl.doubtnut.com/l/_L2NeskTHFE7f
https://dl.doubtnut.com/l/_IQOaLQjsztwO


Watch Video Solution

( − 1, 0), (1, 3) and (3, 2)

4. Using integration find the area of the triangular

region whose sides have the equations y =2x+1, y =3x

+1 and x= 4.

Watch Video Solution

5. Smaller area enclosed by the circle 

and the line  is ……….

A. 

x2 + y2 = 4

x + y = 2

2(π − 2)

https://dl.doubtnut.com/l/_IQOaLQjsztwO
https://dl.doubtnut.com/l/_GREqeJb6wTR0
https://dl.doubtnut.com/l/_4vxPv2LzqNlG


B. 

C. 

D. 

Answer: B

Watch Video Solution

π − 2

2π − 1

2(π + 2)

6. Area lying between the curves  and y = 2x

is

A. 

B. 

y2 = 4x

2

3

1

3

https://dl.doubtnut.com/l/_4vxPv2LzqNlG
https://dl.doubtnut.com/l/_6unims1EOJng


Miscellaneous Exercise 8

C. 

D. 

Answer: B

Watch Video Solution

1

4

3

4

1. Find the area under the given curves and given

lines : 

 X -axis

Watch Video Solution

y = x2, x = 1, x = 2 and

https://dl.doubtnut.com/l/_6unims1EOJng
https://dl.doubtnut.com/l/_dij5pzIjytkP


2. Find the area under the given curves and given

lines : 

 and X- axis

Watch Video Solution

y = x2, x = 1, x = 2

3. Find the area between the curves y = x and 

.

Watch Video Solution

y = x2

https://dl.doubtnut.com/l/_dij5pzIjytkP
https://dl.doubtnut.com/l/_dB2tykeJ2grI
https://dl.doubtnut.com/l/_Ux3bjcOApBHL


4. Find the area of the region lying in the first

quadrant and bounded by 

and y=4.

Watch Video Solution

y = 4x2, x = 0, y = 1

5. Sketch the graph of  and evaluate

Watch Video Solution

y = |x + 3|

∫
0

− 6
|x + 3|dx.

https://dl.doubtnut.com/l/_hFgXFFYZP7DK
https://dl.doubtnut.com/l/_fWoSXfoC3ITz


6. Find the area bounded by the curve 

between  and .

Watch Video Solution

y = sinx

x = 0 x = 2π

7. Find the area enclosed between the parabola

 and the line .

Watch Video Solution

y2 = 4ax y = mx

8. Find the area enclosed by the parabola 

and the line  .

W h Vid S l i

4y = 3x2

2y = 3x + 12

https://dl.doubtnut.com/l/_AbfBv5UT1WLH
https://dl.doubtnut.com/l/_z8PdCHEwoGwk
https://dl.doubtnut.com/l/_ZAakC4c8Uu8P


Watch Video Solution

9. Find the area of the smaller region bounded by

the ellipse  and the line 

Watch Video Solution

+ = 1
x2

9

y2

4
+ = 1

x

3

y

2

10. Find the area of the smaller region bounded by

the ellipse  and the line .

Watch Video Solution

+ = 1
x2

a2

y2

b2
+ = 1

x

a

y

b

https://dl.doubtnut.com/l/_ZAakC4c8Uu8P
https://dl.doubtnut.com/l/_uvi3i3ECldV3
https://dl.doubtnut.com/l/_oAzJxSTElGAL


11. Find the area of the region enclosed by the

parabola , the line y = x + 2 and the x-axis.

Watch Video Solution

x2 = y

12. Using the method of integration find the area

bounded by the curve |x|+|y|= 1. [Hint: The required

region is bounded by lines x + y = 1, x - y = 1, -x + y = 1

and -x -y =1].

Watch Video Solution

https://dl.doubtnut.com/l/_5ceDVkT6EMGT
https://dl.doubtnut.com/l/_SM9W6lpfBLEh


13. Find the area bounded by curves

.

Watch Video Solution

{(x, y) : y ≥ x2andy = |x|}

14. Using the method of integration find the area of

the triangle ABC, coordinates of whose vertices are

A(2, 0), B (4, 5) and C (6, 3).

Watch Video Solution

https://dl.doubtnut.com/l/_63ECTrhAOGdw
https://dl.doubtnut.com/l/_JC0ZCGuX46Ey


15. Using the method of integration find the area of

the region bounded by lines

.

Watch Video Solution

: 2x + y = 4, 3x − 2y = 6 and x − 3y + 5 = 0

16. Find the area of the regaion enclosed by

Watch Video Solution

{(x, y) : y2 ≤ 4x, 4x2 + 4y2 ≤ 9}.

https://dl.doubtnut.com/l/_58wMUxN0OVcB
https://dl.doubtnut.com/l/_uC0STV3fgC4b


17. Area bounded by the curve  the x-axis and

the ordinates  and  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = x3

x = − 2 x = 1

−9

−
15

4

15

4

17
4

https://dl.doubtnut.com/l/_jX5h6puVfbDe


18. The area bounded by the curve  X -axis

and the ordinates  and x=1 is given by

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = x|x|,

x = − 1

1

3

2

3

4
3

https://dl.doubtnut.com/l/_93tKi3WWRLzv


19. The area of the circle  exterior to

the parabola  is …..

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 16

y2 = 6x

(4π − √3)
4
3

(4π + √3)
4
3

(8π − √3)
4
3

(8π + √3)
4
3

https://dl.doubtnut.com/l/_vXhx3PYHVeHB


Textbook Illustrations For Practice Work

20. The area bounded by the Y-axis

 when  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

, y = cos x and y = sinx 0 ≤ x ≤
π

2

2(√2 − 1)

√2 − 1

√2 + 1

√2

https://dl.doubtnut.com/l/_38Wi5D87PVP9


1. Find the area enclosed by the circle .

Watch Video Solution

x2 + y2 = a2

2. Find the area enclosed by the circle the ellpise

Watch Video Solution

+ = 1
x2

a2

y2

b2

3. Find the area of the region bounded by the curve

 and the line y = 4.

Watch Video Solution

y = x2

https://dl.doubtnut.com/l/_osW2aJQXuIRE
https://dl.doubtnut.com/l/_Vkb2X8E7FP7K
https://dl.doubtnut.com/l/_Zw6SXCMe2bo3


4. find the area of the region in the first quadrant

enclosed by the X -axis , the line y=x and the circle

Watch Video Solution

x2 + y2 = 32

5. Find the area bounded by the ellipse

 and the cordinates  and

, where .

Watch Video Solution

+ = 1
x2

a2

y2

b2
x = 0

x = ae b2 = a2(1 − e2) and e < 1

https://dl.doubtnut.com/l/_Zw6SXCMe2bo3
https://dl.doubtnut.com/l/_OlGTcPBq2knX
https://dl.doubtnut.com/l/_taO7426NAkmF


6. find the area of the region bounded by the two

parabolas 

Watch Video Solution

y = x2 and y2 = x

7. Find the area lying above x-axis and included

between the circle  and inside of the

prarabola 

Watch Video Solution

x2 + y2 = 8x

y2 = 4x.

https://dl.doubtnut.com/l/_Ia4ea8weeolk
https://dl.doubtnut.com/l/_k02wkWnVFUG9


8. in figure  is the part of the ellipse

 in the first quadrant such that OA =2

and OB =6 . Find the area between the are AB and

the chord AB. 

Watch Video Solution

AOBA

9x2 + y2 = 36

https://dl.doubtnut.com/l/_ULZLGg5MvRfH


9. Using intregration find the area of region

bounded by the triagnle whose vertices are

Watch Video Solution

(1, 0), (2, 2) and (3, 1)

10. Find the area of the region enclosed between the

two circles : .

Watch Video Solution

x2 + y2 = 4 and (x − 2)2 + y2 = 4

https://dl.doubtnut.com/l/_veKOCZsju8wB
https://dl.doubtnut.com/l/_hQaXj44rW7tY


11. Find the area of the parabola  bounded

by its latus reactum ,

Watch Video Solution

y2 = 4ax

12. Find the area of the region bounded by the line

 the x -axis and the ordinates x=-1 and

x=1.

Watch Video Solution

y = 3x + 2,

https://dl.doubtnut.com/l/_pjrxC5YYfMai
https://dl.doubtnut.com/l/_9YropIjFc3V1


13. Find the area bounded by the curve 

between  and  .

Watch Video Solution

y = cos x

x = 0 x = 2π

14. Prove that the curves 

divide the area of the square bounded by x= 0, x= 4,

y =4 and y= 0 into three equal parts.

Watch Video Solution

y2 = 4x  and x2 = 4y

https://dl.doubtnut.com/l/_a4OUIdUIaRSu
https://dl.doubtnut.com/l/_O5IlE936scKr


Solutions Of Ncert Examplar Problems Short Answer

Type Questions

15. Find the area of the region enclosed by

Watch Video Solution

{(x, y) : 0 ≤ y ≤ x2 + 1, 0 ≤ y ≤ x + 1, 0 ≤ x ≤ 2}.

1. find the area of the region bounded by the curves

 and 

Watch Video Solution

y2 = 9x y = 3x.

https://dl.doubtnut.com/l/_TvpbS4nw4RdT
https://dl.doubtnut.com/l/_qwTfNy541H1r


2. Find the area of the region bounded by the

parabola 

Watch Video Solution

y2 = 2px and x2 = 2py.

3. find the area of the region bounded by the curve

Watch Video Solution

y = x3, y = x + 6 and x = 0

4. Find the area of the region bounded by the curve

W h Vid S l i

y2 = 4x and x2 = 4y

https://dl.doubtnut.com/l/_i0RnBsISTCS1
https://dl.doubtnut.com/l/_KlluY5eCVBeq
https://dl.doubtnut.com/l/_BSqzAv9mOPmg


Watch Video Solution

5. find the area of the region included between

Watch Video Solution

y2 = 9x and y = x.

6. find the area of the region enclosed by the

parabola  and the line line .

Watch Video Solution

x2 = y y = x + 2

https://dl.doubtnut.com/l/_BSqzAv9mOPmg
https://dl.doubtnut.com/l/_2H3UyVBiAPUO
https://dl.doubtnut.com/l/_NQW5wUg68zLn


7. Find the area of the region bounded by line 

and parabola 

Watch Video Solution

x = 2

y2 = 8x

8. Sketch the region  and X-

axis . Find the area of the region using integration.

Watch Video Solution

{(x, 0) /y = √4 − x2}

9. Calculate the area under the curve 

included between the lines  and x=1

W h Vid S l i

y = 2√x

x = 0

https://dl.doubtnut.com/l/_zebhYIZ5o3Z3
https://dl.doubtnut.com/l/_yMrSWV2g3qWh
https://dl.doubtnut.com/l/_3whywAnmFTJS


Watch Video Solution

10. Using integration , find the area of the region

bounded by the line axis and the

lines x=2 and x=8.

Watch Video Solution

2y = 5x + 7, x

11. Draw a rough sketch of the curve  in

the interval  . Find the area under the

curve and between the lines x=1 and x=5 .

Watch Video Solution

y = √x − 1

x ∈ [1, 5]

https://dl.doubtnut.com/l/_3whywAnmFTJS
https://dl.doubtnut.com/l/_AjmbBE5EumEk
https://dl.doubtnut.com/l/_h5z7xIodlM97
https://dl.doubtnut.com/l/_QacNgum16Z1O


12. Determine the area under the curve

 included between the lines x=0 and

x=a .

Watch Video Solution

y = √a2 − x2

13. find the area of the region bounded by 

and y=x .

Watch Video Solution

y = √x

14. find the area enclosed by the curve 

and the straight line 

y = − x2

x + y + 2 = 0

https://dl.doubtnut.com/l/_QacNgum16Z1O
https://dl.doubtnut.com/l/_OluC6CZiZRob
https://dl.doubtnut.com/l/_3vzcqDgtVhgQ


Solutions Of Ncert Examplar Problems Long Answer

Type Questions

Watch Video Solution

15. Find the area bounded by the curve

 in the first quadrant and Y-

axis

Watch Video Solution

y = √x, x = 2y + 3

1. Find the area of the region bounded by the curve

y2 = 2x and x2 + y2 = 4x

https://dl.doubtnut.com/l/_3vzcqDgtVhgQ
https://dl.doubtnut.com/l/_ZR33KbtM4yID
https://dl.doubtnut.com/l/_7c8zBDS1N0gZ


Watch Video Solution

2. Find the area bounded by the curve 

between  and .

Watch Video Solution

y = sinx

x = 0 x = 2π

3. Find the area of region bounded by the triangle

whose vertices are A (-1,1) ,B ( 0,5) and C( 3,2) using

integration .

Watch Video Solution

https://dl.doubtnut.com/l/_7c8zBDS1N0gZ
https://dl.doubtnut.com/l/_eaQ9MYQm2iig
https://dl.doubtnut.com/l/_8Nyali81erHW
https://dl.doubtnut.com/l/_hPtu6xx6kW5W


4. Draw a rough sketch of the region

 and  .Also find

the area of the region sketched using method of

integration .

Watch Video Solution

{(x, y) /y2 ≤ 6ax x2 + y2 = 16a2}

5. Compute the area bounded by the lines

 and 

Watch Video Solution

x + 2y = 2, y − x = 1 2x + y = 7

https://dl.doubtnut.com/l/_hPtu6xx6kW5W
https://dl.doubtnut.com/l/_0Bcfx76IiuTM


6. Find the area bounded by the lines

 and 

Watch Video Solution

y = 4x + 5, y = 5 − x 4y = x + 5.

7. find the area bounded by the curve

 the X - axis from  to 

Watch Video Solution

y = 2 cos x and x = 0 x = 2π

8. Draw a rough sketch of the given curve

 and findy = 1 + |x + 1|, x = − 3, x = 3, y = 0

https://dl.doubtnut.com/l/_13xLh4ANOIPW
https://dl.doubtnut.com/l/_rfIhpvxeeMTA
https://dl.doubtnut.com/l/_PpfmW1SS8zNF


Solutions Of Ncert Examplar Problems Objective Type

Questions

the area of the region bounded by them , using

integration

Watch Video Solution

1. The area bounded by the Y-axis

 when  is

A.  seq, unit

B.  seq. unit

C.  seq unit

, y = cos x and y = sinx 0 ≤ x ≤
π

2

√2

√2 + 1

√2 − 1

https://dl.doubtnut.com/l/_PpfmW1SS8zNF
https://dl.doubtnut.com/l/_29wYyTxVXJUg


D.  seq. unit

Answer: C

Watch Video Solution

2(√2 − 1)

2. The area of the region bounded by the curve

 and the straight line  is ……

A. 

B. 

C. 

D. 

x2 = 4y x = 4y − 2

3

8

5

8

7
8

9

8

https://dl.doubtnut.com/l/_29wYyTxVXJUg
https://dl.doubtnut.com/l/_m0u4frieHS4x


Answer: D

Watch Video Solution

3. The area of the region bounded by the curve

 axis is ……..

A. 

B. 

C. 

D. 

Answer: A

y = √16 − x2 and X −

8π

20π

16π

256π

https://dl.doubtnut.com/l/_m0u4frieHS4x
https://dl.doubtnut.com/l/_if6EjLaRhv1j


Watch Video Solution

4. find the area of the region in the first quadrant

enclosed by the X -axis , the line y=x and the circle

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = 32

16π

4π

32π

24π

https://dl.doubtnut.com/l/_if6EjLaRhv1j
https://dl.doubtnut.com/l/_Vp4WxKivxVpy


5. Area of the region bounded by the curve

 between x=0 and x=  is …….

A. 2

B. 4

C. 3

D. 1

Answer: A

Watch Video Solution

y = cos x π

https://dl.doubtnut.com/l/_Vp4WxKivxVpy
https://dl.doubtnut.com/l/_QGVEJ7kNmvSN


6. The area of the region bounded by parabola

 and the straight line  is………. Seq. unit

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = x 2y = x

4
3

1

2

3

1

3

https://dl.doubtnut.com/l/_7H41OP4MRQ3q


7. The area of the region bounded by the curve

 between the ordinates 

and the X- axis is ……….. Seq . Unit

A. 2

B. 4

C. 3

D. 1

Answer: D

Watch Video Solution

y = sinx x = 0, x =
π

2

https://dl.doubtnut.com/l/_Wcx8DHraHbNx


8. The area of the region bounded by the ellipse

 is …..

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ = 1
x2

25

y2

16

20π

20π2

16π2

25π

https://dl.doubtnut.com/l/_57fE2XNbbHQ9


9. The area of the region bounded by the circle

 is ……… seq , unit.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = 1

2π

π

3π

4π

https://dl.doubtnut.com/l/_70vNdKe0WRby


10. The area of the region bounded by the curve

 and the lines  and x=3 is ……..

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = x + 1 x = 2

7
2

9

2

11

2

13

2

https://dl.doubtnut.com/l/_q76ez8LAwUiw


11. The area of the region bounded by the curve

 and the lines  and y=-1 is ……..

A. 4

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = 2y + 3 y = 1

3

2

6

8

https://dl.doubtnut.com/l/_zlGVjaTakarV


Solutions Of Ncert Examplar Problems Multiple Choice

Questions

1. The area of the region bounded by the curve

 and axis is …. Sq . Units

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

y = loge(x + e)

https://dl.doubtnut.com/l/_ZCLwCtXliE8y


2. The function f(x) is passing through (1,2) and its

slope is (2x +1) . The area of the region bounded by

the function and x-axis is …..Sq units

A. 6

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

5

6

1

6

https://dl.doubtnut.com/l/_QSAwvuAEQNMz


3. The area of the region bounded by the curve y=sin

x ,x =0 and x=  is …..sq. units

A. 2

B. 4

C. 8

D. 1

Answer: B

Watch Video Solution

2π

https://dl.doubtnut.com/l/_Cm5myjabCUeY


4. The area of the region bounded by the curve

 and X- axis is …sq. unit

A. 1

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

y = loge x, x = 0 and y ≤ 0

1

2

2

https://dl.doubtnut.com/l/_3CEKM4zAZAj1


5. The area of the region bounded by the curve

 and X -axis is ….. Sq . Units .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = 2x − x2

3

5

2

8

4
3

https://dl.doubtnut.com/l/_yXWCzr6W1yvx


6. The area of the region bounded by the curve

 X - axis is …sq .unit

A. 1

B. 4

C. 2

D. 

Answer: C

Watch Video Solution

y = cos x, − ≤ x ≤ and
π

2

π

2

π

https://dl.doubtnut.com/l/_szPAjGIKsP7P


7. The area of the region bounded by the curve

 and X -axis is ……..sq . Units.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = sinx, π ≤ x ≤ 2π

π

2

−2

0

https://dl.doubtnut.com/l/_9ozT1j4ndu8A


8. The area between the curve  X- axis and

x=4 is divided into two equal parts by the line x=a .

The value of a is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = x2,

2

2
4
3

2
5
3

4

https://dl.doubtnut.com/l/_N98sWFLEJsC1


9. The area of the region bounded by the parabola

 and its latus rectum is …Sq. units.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax

a24
3

a28

3

a216

3

a232

3

https://dl.doubtnut.com/l/_x93leKynrOtw


10. The area of the region bounded by the curve

X -axis and the line x=1 is ….Sq . Units .

A. 2

B. 1

C. 

D. 

Answer: D

Watch Video Solution

y = 2x2,

1

3

2

3

https://dl.doubtnut.com/l/_g7jra28SiSJK


11. The area bounded by the curve  X -axis

and the ordinates  and x=1 is given by

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = x|x|,

x = − 1

1

3

2

3

4
3

https://dl.doubtnut.com/l/_usw4c9KQnvjZ


12. The area of the region bounded by the line

 and X-axis and in the interval [0,3] is

…..Sq. units.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = 3 − x

9

2

4

5

11

2

https://dl.doubtnut.com/l/_Nbz129hAtnLu


13. The area of the region by the curve

 is ..Sq. Units.

A. 3

B. 1

C. 

D. 

Answer: A

Watch Video Solution

y = 3 cos x, 0 ≤ x ≤
π

2

3

2

1

2

https://dl.doubtnut.com/l/_HR2BIGoirgvG


14. The area of the region bounded by the curve

 and lines  and x=1 is …Sq. units

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = 2√x x = 0

1

3

2

3

1

4
3

https://dl.doubtnut.com/l/_MoFWekwtglWR


15. The area of the region bounded by the curve

 X- axis and the lines  is

…..Sq . Units.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = |x − 5|, x = 0, x = 1

9

2

7
2

9

5

https://dl.doubtnut.com/l/_TUiySUUQTmCK


16. The area of the region bounded by the curve

 and the line  is …….Sq . Units

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4x x = 3

4√3

8√3

16√3

5√3

https://dl.doubtnut.com/l/_4ZB2GT8b7N4C


17. The area of the region bounded by the circle

 and the lines  and x=2 in the first

quadrant is …Sq. units.

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

x2 + y2 = 4 x = 0

π

π

2

π

3

π

4

https://dl.doubtnut.com/l/_3Q1YVMui5PKu


18. The Area of the region bounded by the curve

 y-axis and line y=3 is …..Sq. units

A. 2

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 2x,

9

4

9

3

9

2

https://dl.doubtnut.com/l/_GOK8OrOyqItf


19. The area of the region bounded by the curve

 and line  and appear part of X-

axis is …Sq. units .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = x2 x = 1, x = 3

19

3

26

3

16

3

9

https://dl.doubtnut.com/l/_po1p5PCQgOW5


20. The area of the region bounded by the curve

axis and  is ……Sq. units.

A. 4

B. 6

C. 1

D. 2

Answer: A

Watch Video Solution

y = 2 sinx, X − 0 ≤ x ≤ π

https://dl.doubtnut.com/l/_xvjGvvvsN2Xg


21. The area of the region enclosed by the line

 X-axis and the lines  and 

 is …….. Sq . Units.

A. 5

B. 7

C. 10

D. 9

Answer: C

Watch Video Solution

y = x + 1, x = − 3

x = + 3

https://dl.doubtnut.com/l/_2TA0xmEDkeVm


22. The area of the region bounded by the semicircle

 and X - axis is ..Sq . Units .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = √4 − x2

2π

π

π

2

4π

https://dl.doubtnut.com/l/_NxmpuTeXDUZl


23. the area of the region bounded by the parabola

 and the line  is ……..Sq . Units.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = x2 y = 4

32

3

16

3

8

3

64
3

https://dl.doubtnut.com/l/_3nXdwMcuoPsc


24. The area of the region bounded by the curve

X-axis and the line  is

……….Sq . Units.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = |x − 5|, x = 5, x = 6

1.25

0.25

0.50

0.75

https://dl.doubtnut.com/l/_SHXaEognErRN


25. The area of the region bounded by the curve

 X - axis is …sq .unit

A. 2

B. 1

C. 

D. 

Answer: A

Watch Video Solution

y = cos x, − ≤ x ≤ and
π

2

π

2

3

2

1

2

https://dl.doubtnut.com/l/_n6MfzJRutUyY


26. The area of the region bounded by the curve

 and X- axis is ………Sq. units.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = x2 − x − 6

5

6

25

6

125

6

50

6

https://dl.doubtnut.com/l/_XaPfYjkJfVwH


27. The area of the curve enclosed by the curve

 ,  ,  -axis is ......sq.units.

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = 5 sinx 0 < x <
π

2
x

5

2

1

5

5

https://dl.doubtnut.com/l/_u8mw7EbLwCrM


28. The area of the curve enclosed by the curve

Y -axis and line  is ………..Sq . Units .

A. 

B. 

C. 8

D. 

Answer: A

Watch Video Solution

y2 = 2x, y = 2

4
3

9

2

8

3

https://dl.doubtnut.com/l/_MPcj5VPFDjk3


29. The area of the curve bounded by the curve f(x) =

sin  and X - axis is ……sq. units . 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

πx x ∈ [1, 3]

3

π

2

π

4
π

1

π

https://dl.doubtnut.com/l/_dDJOoxJumO3e


30. The area of the region bounded by the curve

 and x=1 ` is ….Sq.

units.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = x2 − x − 6, y = 0, x = − 1

37
3

37
6

34
3

125

6

https://dl.doubtnut.com/l/_u5DvXHpQzUDH


31. The area of the region bounded by the parabola

 and its latus retrurn is 24 Sq. units . Then

a =……….. .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax

±
3

2

±3

±6

9

https://dl.doubtnut.com/l/_P0LZTt2GsVQW


32. For an ellipse  , the area

enclosed by two latus rectum is ……. ( where is the

eccentricity of an ellipse )

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ = 1, a > b
x2

a2

y2

b2

b(be + a sin− 1 2e)

8b(be + a sin− 1
e)

(2b(be + a sin− 1
e)

4b(be + a sin− 1
e)

https://dl.doubtnut.com/l/_fs7Z3QN0fAVz


33. The area of the region bounded by the curve

 is …….Sq. units

A. 6

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

y = |x − 1| and y = 3 − |X|

https://dl.doubtnut.com/l/_0dp54Pe3C0ko


34. Find the area enclosed by the parabola

 , x -axis and the tangent to the

parabola at  points is …….Sq. units

A. 9

B. 12

C. 3

D. 6

Answer: A

Watch Video Solution

(y − 2)2 = x − 1

(2, 3)

https://dl.doubtnut.com/l/_MMNOIAi974wh


35. The area of the region enclosed between the

curves

is ……..Sq. units.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = sinx + cos x and y = |cos x − sinx|, x ∈ [0, ]
π

2

4√2 − 1

2√2(√2 − 1)

2(√2 + 1)

√2 + 1

https://dl.doubtnut.com/l/_5iYiplAEri4R
https://dl.doubtnut.com/l/_nHDchHMSGtRD


36. The area of the region bounded by the curves

 is …..Sq.units.

A. 

B. 

C. 

D. 1

Answer: B

Watch Video Solution

y = x2 and y = √|x|

1

3

2

3

1

6

https://dl.doubtnut.com/l/_nHDchHMSGtRD


37. The tangent at a point (1,1) to the curve

 makes a trinagle in the first

quadrant with axes . If the area of this triangle is 2

Sq, units then the value of b is ……

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = x2 + bx − b

−1

−2

−3

1

https://dl.doubtnut.com/l/_DpQ1PmSC0jt6
https://dl.doubtnut.com/l/_BXck7PCbzzzi


38. The area of the region enclosed by the curves

 is ……Sq.

units.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = sinx, y = cos and x = 0, x =
3π

2

4√2 − 2

4√2 + 2

4√2 − 1

4√2 + 1

https://dl.doubtnut.com/l/_BXck7PCbzzzi


39. The area of the region enclosed by the curve

 is …….Sq. units

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = loge x and y = (loge x)2

e + 1

e − 1

3 − e

1

https://dl.doubtnut.com/l/_AgIlVI0aGpFr


40. The area of the region bounded by the curve

 and the line  is ….Sq. unit.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(y − x)2 = x3 x = 1

3

5

4
5

2

5

1

5

https://dl.doubtnut.com/l/_I8Er87PvgCq7


41. The area of the region bounded by the curve

 and the lines  and

above the X-axis is ….. Sq. units where [.] denotes

maximum integer function .

A. 2

B. 3

C. 4

D. None of these

Answer: C

View Text Solution

y = [ + 2]
x2

64
y = x − 1, x = 0

https://dl.doubtnut.com/l/_Y8LQvaN9OyuW


42. The area of smallest region enclosed by the

circle  and the line  is …..Sq. units

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

x2 + y2 = 9 x = 1

(9 sec− 1 3 − √8)
1

2

9 sec− 1(3) − √8

√8 − 9 sec− 1 3

https://dl.doubtnut.com/l/_wri1Kychn6jc


43. The curve  is passing through (1,2)

the area of the region bounded by the curve line

 and X - axis is 8 Sq. units then

A. a=3 b=-1

B. a=3 b=1

C. a=-3 b=1

D. a=-3 b=-1

Answer: A

Watch Video Solution

y = a√x + bx

x = 4

https://dl.doubtnut.com/l/_cPRo7HuoPJzG


44. The area of the region bounded bwtween the

curve  and the lines x=0 ,

x=2 is ……….Sq. units

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = 2x and y = 2x − x2

−
4
3

1

log 2

+
3

log 2

4
3

− 1
4

log 2

−
3

log 2

4
3

https://dl.doubtnut.com/l/_odgWt5RL12Jc


45. The ratio of the area of the region of the curves

 between X- axis ,  to

 is ….

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = cos x and y = cos 2x x = 0

x =
π

3

1: 2

2: 1

√3: 1

1: √3

https://dl.doubtnut.com/l/_qurWscTaCgL4


46. The area of the region bounded by the curve

 X - axis and the lines x=-2 and x =3 is

…… q. units. 

where [.] denotes maximum integer function .

A. 7

B. 15

C. 4

D. 28

Answer: B

Watch Video Solution

y = |[x − 3]|,

https://dl.doubtnut.com/l/_7Mc1UMsOdobx
https://dl.doubtnut.com/l/_3Ae2cmIHuFw9


47. The area of the region bounded by the curve

, Y- axis and the tangent drawn at a

point (1,4) to the curve is ……. Sq . Units

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

y = x2 + 2x + 1

2

3

1

3

2

https://dl.doubtnut.com/l/_3Ae2cmIHuFw9


48.  the area of the region

bounded by the curve  and 

 is  sq . Units then a =…………

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = {
x2 ,x ≤ 0

x ,x ≥ 0

y = f(x), y = 0

x = ± 3a
9a

2

1

2

−
1

2

0

−1

https://dl.doubtnut.com/l/_aJuhiw2nnOyb


49.  the area of the

region bounded by the curve  X-axis Y-axis

and x=  is ……..Sq. units

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = max {sinx, cos x, }
1

2

y = f(x),

2π

( + 3)
5π

12

( + √2)
5π

12

( + √3)
5π

12

( + √2 + √3)
5π

12

https://dl.doubtnut.com/l/_tVOwKfZNPnA2


50.  

the area of the region bounded by the curve y=f(x) ,

X-axis and Y-axis is …….sq units.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = x2 − 3x + 2 ∀x ∈ R

1

3

2

3

3

5

5

6

https://dl.doubtnut.com/l/_KsyEPVDnf7mI


51. The area of the region enclosed by the curve

 - axis is …….Sq. units

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

y = f(|x|), x

1

2

3

0

https://dl.doubtnut.com/l/_eRaurvity2Go


52. The area of the reagion bounded by the curve

X- axis and  is ………Sq.

units

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

y = |f(|X|)|, 1 ≤ |x| ≤ 2

1

5

1

4

1

3

1

2

https://dl.doubtnut.com/l/_CHDheJa25IRD


53.  has six real roots then …

A. 

B. 

C. 

D. None of these

Answer: D

View Text Solution

|f(|x|) = a|

a ∈ (0, )
1

4

a ∈ ( , 2)
1

4

a ∈ ( − , 0)
1

4

54. The number of solution of

 is ……….|y| = |f(|x|)| and x2 + y2 = 2

https://dl.doubtnut.com/l/_6p5jz5oL7Lxo
https://dl.doubtnut.com/l/_KktlbV8tgq1U


A. 4

B. 6

C. 8

D. 5

Answer: C

View Text Solution

55. The area of the region bounded by the curve

 , X - axis and the x-co-

ordination of the point where y becomes minimum

is …..Sq. units

y = x4 − 2x3 + x2 + 3

https://dl.doubtnut.com/l/_KktlbV8tgq1U
https://dl.doubtnut.com/l/_gMBgU5TgZsjQ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

91

30

30

9

4

56. The area of the region enclosed by

 is …..Sq. units

A. 

{(x, y) : x2 + y2 ≤ 1 ≤ x + y}

π

5

https://dl.doubtnut.com/l/_gMBgU5TgZsjQ
https://dl.doubtnut.com/l/_DUjwVLUcCdQz


B. 

C. 

D. 

Answer: C

Watch Video Solution

π

4

−
π

4

1

4

π2

2

57. The area of the region bounded by the parabola

 and the line  is ………..sq. units .

A. 

B. 

y = x2 + 1 x + y = 3

45
7

25

4

https://dl.doubtnut.com/l/_DUjwVLUcCdQz
https://dl.doubtnut.com/l/_Fkobwc8Kz5hY


C. 

D. 

Answer: D

Watch Video Solution

π

18

9

2

58. The area of the region bounded by the lines

X-axis is ……..Sq. units

A. 1

B. 2

C. 3

y = 1 − |x| and

https://dl.doubtnut.com/l/_Fkobwc8Kz5hY
https://dl.doubtnut.com/l/_dXu7rMHQnh4F


D. 4

Answer: A

Watch Video Solution

59. The area of the region bounded by the curve

 and X- axis and the lines  is

……….sq.units

A. 

B. 

C. 

x = cos − 1 y |x| = 1

2sin 1∘

0

π

2

https://dl.doubtnut.com/l/_dXu7rMHQnh4F
https://dl.doubtnut.com/l/_OI5bsePGqMev


D. None of these

Answer: A

Watch Video Solution

60. The area of the region bounded by the curve

 and x=b and X- axis is …..Sq. units 

A. 

B. 

C. 

y = ex, x = a

(a < b)

ea− b

eb−a

ea − eb

https://dl.doubtnut.com/l/_OI5bsePGqMev
https://dl.doubtnut.com/l/_NKToUUgk1w0x


D. 

Answer: D

Watch Video Solution

eb − ea

61. The area of the region bounded by the curve

 and  is …….Sq. units .

A. log 2

B. 2 log 2

C.  log 2

D. 

y = tan θ, x = 0 x =
π

4

1

2

log 3

https://dl.doubtnut.com/l/_NKToUUgk1w0x
https://dl.doubtnut.com/l/_suiAAEnqA3ZO


Answer: C

Watch Video Solution

62. The area of the region bounded by the curve

 and  is  Sq. units then the

value of m is…………..

A. 

B. 

C. 

D. 

y2 = 4ax y = mx
a2

3

2

−2

1

2

1

https://dl.doubtnut.com/l/_suiAAEnqA3ZO
https://dl.doubtnut.com/l/_YDlNaNQY9QDo


Answer: A

Watch Video Solution

63. If the area of the region bounded by the curve

 X - axis and x=1 and x=b is (b-1) sin (3b+4)

` f(x) ……

A. 

B. 

C. 

D. None of these

y = f(x),

3(x − 1)cos(3x + 4) + sin(3x + 4)

(b − 1)sin(3x + 4) + 3 cos(3x + 4)

(b − 1)cos(3x + 4) + 3 sin(3x + 4)

https://dl.doubtnut.com/l/_YDlNaNQY9QDo
https://dl.doubtnut.com/l/_8QRBVDaefSuI


Answer: A

Watch Video Solution

64. The area of region bounded by the curve

 is …Sq. units

A. 2

B. 1

C. 

D. None of these

Answer: B

y = |x − 1| and y = 1

1

2

https://dl.doubtnut.com/l/_8QRBVDaefSuI
https://dl.doubtnut.com/l/_UHcfZnW78e9k


Watch Video Solution

65. The area between the parabolas and 

 is …… Sq. units .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax

x2 = 8ay

a28

3

a24
3

a232

3

a216

3

https://dl.doubtnut.com/l/_UHcfZnW78e9k
https://dl.doubtnut.com/l/_nuqPiyJBtmlc
https://dl.doubtnut.com/l/_bEyDdio2ZnAA


66. The area between the parabolas  and 

 divide the square formed by the lines

 , y=4 and oxes into three parts . If the area of

these three parts from uppar to bottom is

 then =..........

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4x

x2 = 4y

x = 4

S1, s2 and S3 S1 : S2 : s3

2: 1: 2

1: 1: 1

1: 2: 1

1: 2: 3

https://dl.doubtnut.com/l/_bEyDdio2ZnAA


67. The area of the region bounded by the curve

 x - axis and  and  is A.

the area of the region bounded by the curve

X - axis and x=-1 and x=4 is B. then A : B

=……..

A. 

B. 

C. 

D. None of these

Answer: A

y = √3x + 4, x = − 1 x = 4

y2 = 3x + 4,

1: 1

2: 1

1: 2

https://dl.doubtnut.com/l/_bEyDdio2ZnAA
https://dl.doubtnut.com/l/_vcHoPHBfHjL3


Watch Video Solution

68. The function  is a non - negative continous

function .The area of the region bounded by the

curve X - axis  is 

 then  ……

A. 

B. 

C. 

D. 

Answer: B

h id l i

f(x)

y = f(x), , x = , x = β >
π

4

π

4

β sinβ + cos β + √2β
π

4
f( )

π

2

(1 − − √2)
π

4

(1 − + √2)
π

4

+ √2 − 1
π

4

− √2 + 1
π

4

https://dl.doubtnut.com/l/_vcHoPHBfHjL3
https://dl.doubtnut.com/l/_yubz5ngWYiem


Watch Video Solution

69. The area of region bounded by the curve

 parabola is ……

A. 0

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

x2 + y2 = 9 y2 = 8x

+ − 9 sin− 1( )
2√2

3

9π

2

1

3

16π

https://dl.doubtnut.com/l/_yubz5ngWYiem
https://dl.doubtnut.com/l/_GYnUDcITJTJG
https://dl.doubtnut.com/l/_WTlFrE1LIiOI


70. The area of region bounded by the curve

 and line  is  then the value of

m is ……..

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = x − x2 y = mx
9

2

−4

−2

2

4

https://dl.doubtnut.com/l/_WTlFrE1LIiOI


71. The area of the region bounded by the curve

is ….Sq. units

A. 4

B. 6

C. 10

D. None of these

Answer: A

Watch Video Solution

y = logx, y = log|x|, y = |logx| and y = |log|x ∣ ∣

https://dl.doubtnut.com/l/_ti8fk9Lc9vr4


72. The area of the quadrilateral formed by the

tangents drawn at extreme points of latus reactum

of an ellipse  is …Sq. units .

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

+ = 1
x2

9

y2

5

27

4

9

27
2

27

https://dl.doubtnut.com/l/_E2BbE2KgWQpL


73. The area of the region bounded bwtween the

curve  and the lines x=0 ,

x=2 is ……….Sq. units

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = 2x and y = 2x − x2

−
4
3

1

log 2

+
3

log 2

4
3

− 1
4

log 2

−
3

log 2

4
3

https://dl.doubtnut.com/l/_EWaeMaRt2INE


74.  the area of

the region bounded by the curve f(x) and X - axis is

….Sq. unit

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = min {x + 1, √(1 − x)}

1

6

5

6

7
6

11

6

https://dl.doubtnut.com/l/_WrwqouXh2cmN


75. The area of the region bounded by the curves

 is ……sq. units .

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

y = 2 − |2 − x| and y =
3

|x|

5 − 4 log 2

3

2 − log 3

2

4 − 3 log 3

2

https://dl.doubtnut.com/l/_bCSQSO4hU0K3


76. The area of the region bounded by the curves

 and the line  is …………Sq.

unit.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = xex, y = xe−x x = 1

2e

2

e

e

2

e2

https://dl.doubtnut.com/l/_kOVtIhomjXIO


77. The area of the region bounded by the curve

 and the line  is ….Sq. unit.

A. 

B. 

C. 

D. 3

Answer: B

Watch Video Solution

(y − x)2 = x3 x = 1

1

3

4
5

6

4

https://dl.doubtnut.com/l/_HuaG4IKAOIjX


78. The area of the region enclosed by the curves

 is …..Sq. unit.

A. 2

B. 3

C. 6

D. 7

Answer: A

View Text Solution

|x + y − 1| + |2x + y − 1| = 1

https://dl.doubtnut.com/l/_QYpKVCFkZo2L


79. The area of the region bounded by the curve

-axis and  is …….

Sq. units.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = cos x, y = sinx, Y 0 ≤ x ≤
π

4

2(√2 − 1)

√2 − 1

√2 + 1

√2

https://dl.doubtnut.com/l/_dtilzTV6E1Ae


80. The area of the region enclosed by the curve

X- axis and the lines  is ………Sq.

units.

A. 4

B. 3

C. 2

D. 1

Answer: A

Watch Video Solution

y = |sinx| |x| = π

https://dl.doubtnut.com/l/_t6Q6od5GGfFA


81. The area of the region bounded by the lines

 X- axis and |x| =1 is ……..Sq. units.

A. 3

B. 2

C. 1

D. 4

Answer: C

Watch Video Solution

y = |x|,

https://dl.doubtnut.com/l/_r4tirAjLE1oY


82. The area of the reagion bounded by the curve

 and the lines  and  is ……. Sq .

Units . Where [.] denotes the greatest integer

function .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = [x] x = 1 x = 1.9

3

5

7
10

4
5

9

10

https://dl.doubtnut.com/l/_27yNjGFwU6Y6
https://dl.doubtnut.com/l/_VqGcv7RY5oue


83. If 

then the area of A is …..Sq. units .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = {(x, y}, x2 + y2 ≤ 1 and y2 ≤ 1 − x}

−
π

2

2

3

+
π

2

2

3

+
π

2
4
3

−
Π
2

4
3

https://dl.doubtnut.com/l/_VqGcv7RY5oue


84. The area of the region bounded by

is ….Sq. units.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

{(x, y) : y2 ≥ 2x and x2 + y2 ≤ 4x, x ≥ 0, y ≥ 0}

π −
4
3

π −
8

3

π −
4√2

3

−
π

2

2√2

3

https://dl.doubtnut.com/l/_6UqrXHuOu03V


85. The area of region bounded by

 and 

 is …….Sq . Units

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

{(x, y) : x ≥ 0, x + y ≤ 3, x2 ≤ 4y

y ≤ 1 + √x}

5

2

59

12

3

2

7
3

https://dl.doubtnut.com/l/_apKVn9mzB3jo


86. Area bounded by curve

 and X-axis is …..

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = tanπx, x ∈ [ − , ]
1

4

1

4

log 2

2π

log 2

2

log 2

log 2

π

https://dl.doubtnut.com/l/_k1afPAdnUxSq


87. If the area of the region bounded by two curves

 is  then k=…….

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = x2 and y = x3 k

6

1

3

1
12

1
2

1

4

88. Area bounded by the ellipse  is …….+ = 4
x2

4

y2

16

https://dl.doubtnut.com/l/_AOf8LaqDbjRA
https://dl.doubtnut.com/l/_JKfYTWQaiT3H


A. 

B. 

C. 

D. s

Answer: B

Watch Video Solution

64π

32π

8π

π

64

89. Let

then k is ……..

xk + yk = ak(a, k > 0) and + ( ) = 0
dy

dx

y

x

1
3

https://dl.doubtnut.com/l/_JKfYTWQaiT3H
https://dl.doubtnut.com/l/_Ax62R918EK35


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

3

3

2

2

3

4
3

90. Let the function  be continuous

on  and differential on  . If

 and  , for all 

f : [ − 7, 9] → R

[ − 7, 0] ( − 7, 0)

f( − 7) = − 3 f' (x) ≤ 2 x ∈ ( − 7, 0)

https://dl.doubtnut.com/l/_Ax62R918EK35
https://dl.doubtnut.com/l/_dpNFuYqNOwPh


, then for all such function  lies in

the interval :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f, f( − 1) + f(0)

[ − 6, 20]

[ − ∞, 20]

[ − ∞, 11]

[ − 3, 11]

91. The area ( in Sq. units ) of the region

 is :{(x, y) ∈ R ∣ 4x2 ≤ y ≤ 8x + 12}

https://dl.doubtnut.com/l/_dpNFuYqNOwPh
https://dl.doubtnut.com/l/_4L72XQMhYd92


Practice Paper Section A

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

125

3

128

3

124
3

127
3

1. The area of the region bounded by the curve

 and X -axis is ….. Sq . Units .y = 2x − x2

https://dl.doubtnut.com/l/_4L72XQMhYd92
https://dl.doubtnut.com/l/_uqrDziaKGtoZ


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3

5

2

8

4
3

2. The area of the region by the curve

 is ..Sq. Units.

A. 3

y = 3 cos x, 0 ≤ x ≤
π

2

https://dl.doubtnut.com/l/_uqrDziaKGtoZ
https://dl.doubtnut.com/l/_AHduwRPJ6yJo


B. 1

C. 

D. 

Answer:

Watch Video Solution

3

2

1

2

3. The area of the region bounded by the line

 ,X-axis and the lines x=2 and x=4 is

……….sq . Units

A. 12

x + 2y = 8

https://dl.doubtnut.com/l/_AHduwRPJ6yJo
https://dl.doubtnut.com/l/_7En9IJTwuPp4


B. 5

C. 10

D. 8

Answer:

Watch Video Solution

4. The area of the region bounded by the curve

 and x=b and X- axis is …..Sq. units 

A. 

y = ex, x = a

(a < b)

ea − eb

https://dl.doubtnut.com/l/_7En9IJTwuPp4
https://dl.doubtnut.com/l/_H43SzsIExQDk


B. 

C. 

D. 

Answer:

Watch Video Solution

eb − ea

e− b−a

ea− b

5. The area of the region bounded by the curve

 X- axis and the lines  is

…..Sq . Units.

A. 

y = |x − 5|, x = 0, x = 1

9

2

https://dl.doubtnut.com/l/_H43SzsIExQDk
https://dl.doubtnut.com/l/_umJ1MTKzNIQs


B. 

C. 

D. 

Answer:

Watch Video Solution

7
2

9

5

6. The area of the region bounded by the curve

 x - axis and  and  is A.

the area of the region bounded by the curve

X - axis and x=-1 and x=4 is B. then A : B

=……..

y = √3x + 4, x = − 1 x = 4

y2 = 3x + 4,

https://dl.doubtnut.com/l/_umJ1MTKzNIQs
https://dl.doubtnut.com/l/_Ie1GnoG0QLvm


Practice Paper Section B

A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

1: 1

2: 1

1: 2

1. Using integration , find the ara of the region

bounded by the circle x2 + y2 = a2

https://dl.doubtnut.com/l/_Ie1GnoG0QLvm
https://dl.doubtnut.com/l/_AV3czJA8Vxdc


Practice Paper Section C

Watch Video Solution

2. Find the area of the region bounded by the

parabola  and y = |x|.

Watch Video Solution

y = x2

3. Find the area of the region between the parabolas

Watch Video Solution

y2 = 4ax and x2 = 4ay, (a > 0)

https://dl.doubtnut.com/l/_AV3czJA8Vxdc
https://dl.doubtnut.com/l/_8wWcpo1VyJMh
https://dl.doubtnut.com/l/_kOYe6opgkHLz


1. Using integration find the area of the region

bounded by the triangle whose vertices are

Watch Video Solution

( − 1, 0), (1, 3) and (3, 2)

2. find the area bounded by the curve

 and .

Watch Video Solution

(x − 1)2 + y2 = 1 x2 + y2 = 1

https://dl.doubtnut.com/l/_m4Lnt05SE4tb
https://dl.doubtnut.com/l/_cMurtLriiFXh


Practice Paper Section D

3. Find the area of the region bounded by the curves

 and X- Axis in the first

quadrant .

Watch Video Solution

y = √4 − x2, y = √3x

4. Find the area of the region enclosed by the lines

.

Watch Video Solution

y = |x − 1|, y = 0 and |X| = 2

https://dl.doubtnut.com/l/_YdfSpY3CfM7M
https://dl.doubtnut.com/l/_wOj8z8l991A0
https://dl.doubtnut.com/l/_L1ZABSPE22rd


1. Find the area of the regaion enclosed by

Watch Video Solution

{(x, y) : y2 ≤ 4x, 4x2 + 4y2 ≤ 9}.

2. Find the area of the region enclosed by

Watch Video Solution

{(x, y) : 0 ≤ y ≤ x2 + 1, 0 ≤ y ≤ x + 1, 0 ≤ x ≤ 2}.

https://dl.doubtnut.com/l/_L1ZABSPE22rd
https://dl.doubtnut.com/l/_Je3kyUtFI136

